6.12 A2k 50kg 0l HAE 5

1

Ho2 48 m B O[S AI7|T, 8 A2 POtelzky 2EOHEA & 021

= sol) W = F - Ax = npg - Ax = mgp, - Ax = 50 kg X 9.8 (m/s?) x 0.21 X 4.8 m= 493.92 (J)

6.24 70|E2| &4 6* b k=70mN/m, ot2|7t 258 W AO|[E2 9.6 cm B8 = O0{HLL O T}2|7F S=t
HA AHO[=0f o &2 Z0f 27t Lf?

> Sol) W =~kx? = ~70 mN/m - 9.62cm = -0.07 N/m - 0.0962m="0.00032256 J = 0.3 m)

6.50 Zt&= 252 250 N Q| &2 &850 & ALRO| X}sXAHE EO{A 56 m THE &7|2{1 ot Xt & 22 &
Otel7t?

= Sol) W = FAr cos(8) = (250N)(5.6m) cos(25°) = 250 x 5.6 x 0.9063078 = 1268.831] = 1300]

J% 6.17 &% 28| 50



=0 YO Z 23 m 2= A QCE 120 N 2 & 32| Z0| &X0f 2500

6.51 1N JXt0| O ==
T84 6= 20t

1
o &= SHCtE A2

— -

okl Ll

= Sol ) W = FAr cos(8) = 2500 J = 120 N X 23 m X cos(0)

2500

= cos(0) = 0.9057971

120%x23
0 = arcos(0.9057971) = 0.43753914 (rad) = f 25& (1rad = 57.2958 k) J% 6,18 AH 24 51
653 a)i-1,j-] , k-k ZZQ| AZEt 5272 byi-j,j -k, k-1 ZrZo] AZet 527

Q) A=A +A,j+Ak @ B=B,i+B,j+Bk o AZEt F27

= ABcos(8) ,A-B = A,B, + AyB, + A,B,
e j k-k 25 cos0 = 1 0f 2I8fA 1X1X1 2 1 O|LC},
ok, k-1 25 cos90 = 0 Off 28| 1X1X0 22 0 O|C}. ¢) 4B = A.B, + A,B, + 4,B, O|Ct.

6.53 a) al +bj and bi —aj °| 2Z 2t 527 b) & HE{S| AFQUZZ ?

> Sol)A-B=A4Bcos(8), A-B=A.B,+A,B,+A,B,
a) (at+ bj) - (bi—aj) =ab —ab = 0.
b) —'|:—H—1!E'|9| AZe 50| 0 O2f= &2 ABcos(8) =0 O|2t= EO|H,
2ole| &= a, bOf CHSHAM AZ2t =0] 00] El= ZHE2 cos(@) =0 ¢l =4, = 6 = acos(0) = 90°



